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CALCULATOR SECTION: Show necessary working in the space provided
- Ques.1l. a The rainfall average for Sydney is 1 220 mm and for Brisbane is | 200 mm. What is the ratio, in
simplest form, of the rainfall of Sydney to the rainfall of Brisbane?
b The daily hours of sunshine average in Sydney is 6:8 hours and in Brisbane is 8 hours. What is the
. atio, in siruplest form, of the averzgg)ﬁhogﬂ_gﬁunsmge in Sydney to that in Brisbane?

Ans: (a).

(b)

Ques.2. The 1986 census gave the followma breakdown ﬁgures 01“ Ausuaha s then populatlon ot 15 602 136
-281 878 were born in.ltaly .

137 637 were born in G;eece
.56 341 were borh in Lebanon
211 670 were horn in New Zealand

A newspaper wishes to inform the public on COmparisons. betwebn these numbers. They do this by
s:mphf\/m" the ratios as much as possible so that they make sease to the ordlnary reader. lee a ratio _
which thefwspaper might use to descnbe the comparison of:- - g T
,/ .
—Ttalian-born Australians to Greek-born Australians . : ‘ q\
- b Greek-born Ausrmlmns to Lebanese-born Australians

‘e Australians born in Jtaly, Greece,. Lebanon or New Zealand to all other Austrahans (those born in
Australia‘or \.lbf where).

- = ;

Ans (a) . : it (D) (c)

Ques.3. A typical human heart pumps 65 mL of blood p_er beat at an dverage of 70 times per minute.

2 Calculate the number of litres pumped in | minute. i _
b Calculate the number of litres pumped by Jane’s heart in her 15 years.




Ques.4.

Ans: '(a‘_)
(b)Y

Ques.5.

Ans: (a)
®)

Qvues.6.

\\
Answ
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Australians consumed 100-9 L of milk per person in 198889 financial year. The population at that ume--
was 16-833 million.

a Calculate the number of litres of milk consumed per person per day.
b Calculate the total number of litres of milk drunk on an average day.

A car tyre turns 100 times in 46 metres.

a How many times does it tarn in 1 matre?
b How many times does it turn in 1 km?

Ina 73% off sale a 10% further discount was given for large purchases. As well, a further 3% was
deducted for cash payment. A customer receiving all three discounts was {0 pay $75.48. What was the
original full price? :
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Ques.7 .j ' : :

Successive discounts of 10% and 20% ona purchase of $300 means the purchaser receives a discount of
10% of $300 and then a discount of 20% on the balance of $270 ($300 less 10% of $300). Another
 faster method is to calculate 80% of (90% of $300).

a Does it matter if the discounts are calculated in the order 10% then 20% or 20% then 10%?
b Do two successive discounts of 50% and 50% mean the article is free? .

\

. . N -1 . .
¢ i Do three successive discounts of 337 % mean the article is free?

ii Calculate the purchase price ont §1 000 with three successive discounts of 33 £ %, 331 % and 33 ; %.
. o - - 3 3 3

iii To what single discount do the three successive discounts correspond?




Ques.8.

1‘\
Ans: (fL

®) O

(@ ().
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In 1966, average weekly earnings were approximately $635-00

In 1996, average weekly earnings were approximately $650-00

a What is the ratio of increase? ‘

b Based on this, what would you expect the cost of the following
to-be in 19967 Their cost in. 1966 is given.”

i newspaper (Sunday) $0.10¢c
ii student rail ticket 4 $0-15¢
iii petrol ' 8-9c per litre

¢ What might the cost of the following have beea in 19667

i aloafof bread (in 1996 the price was $1-90)
ii a postage stamp (in1996 the cost was 45¢)
iii a phon}e»call (in 1996 the cost was 40c)

d Do you think some items are relatively cheaper in 1996 than
in 1966 or vice versa? :

(i)
(i

1
ol
|
]

(i)
\
i

| .
(iii).. -

Ques.9. Change the following recurring decimals to fractions. .

[N ] ;’
(a) 0.56

¢ &
(b) 0.1278
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CALCULATOR SECTION: Show necessary'working in the space provided

Ques.1. a The rainfail average for Sydney is 1 220 mm and for Brisbane is 1 200 mm. What is the ratio, in
: simplest form, of the rainfall of Sydney to'the rainfall of Brisbane?
b The daily hours of sunshine average in Sydney is 6-8 hours and in Brisbane is 8 hours. What isthe
- ratic, in simplest forrn of the average hours of sunshine ir Sydney to that in Brisbahe?

&/i6e , @

Ques.2. The 1986 census gave the followmu brcakdown figures of Australia’s then popula’ti'_on of 15 602 156.

281 878 were born in Italy

137 637 were bomn in Greece

56 341 were born in Lebanon

211 670 were born in New Zealand

A newspaper wishes to inform the public on comparisons between these numbers. They do this by

simplifying the ratios as much as possible so that they make sense to the ordinary reader. Give a ratio -

which the nevspaper might use to describe the comparison of: -

a Talian-born Australians 1o Greek-bom Australians

b Greek-born Australians to Lebanese- born Australians .

c A.J‘ Vians bort n ftaly, Greece, Lebanon or New Zealand to all other Australians (those born in
Australia or clsewh ere). -

REISIE 5137 ¢37 137037 {8 360 {47526 ¢ 14,14 620
.............. o) SRR = 0 SOOI (1) TSR A o -
A0 @) e e g Ol e O

QUES'B‘ A typical human heart pumps 65 mL of blood per bear at an average of 70 times per minute.

a Caleulate the number of lirres pumped in | minute. .
b Calculate the numnber of lirres. pumped by Jane’s heart in her 15 ycars

Ans: (a)..........; .....................

v

‘ Ques.5.
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Ques4.

Australians consumed 100- L of milk per person in 1988-89 financial year. The populamon at that time
was 16-833 million.

a Calculate the number of lires of milk consumed per person per day.
b Calculate-the total number of litres of.milk drunk on an average day.

Ans: (a) ... AR08 ‘ L @

) .40653,286:549 —74[ TAGWR wJd

A car tyre turns 100 times in 46 metres.
"a How many times does it turn in I mete?
b How many times does it turn in 1 km?

(B)eeee AL LAY S

Ques.6.

In 2 23%-off sale a 10% funhcr discount was given for large purchases. As well, a turther 3% was 'h
deducted for cash payment. A customer receiving all three discounts was to pay $75- 48. What was the
original full price?

Do did Ao = R8¢
* Provioos i bforn (agl ddasese

MNoeT Predeeds ?u
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Ques.7.

Successi\:e discounts of 19%. and 20% on a purchase of $300 means the purchaser receives a discount of
10% of $300 and then a discount of 20% on the balance of $270 ($300 less 10% of $300). Another
faster method is 1o calculate 80% of (90% of $300). ’

a Does it matter if the discounts are calculated in the order 10% then 20% or 20% then 10%?
b Do two successive discounts of 50% and 50% mean the article is free?

¢ i Do three successive discounts of 33 31 % mean the article is free?

i Calculate the purchase price on $1 000 with three successive discounts of 33 ;' %, 33 % % and 33 { %.
TS . . : - ’
iii To what single discount do the three successive discounts correspond?

> 6HS pPr800 = ficcH
Ge%] f fiat =Fovesd
te%s; A%?g’c,zcu,zyé =$2%6:30
Necant = & \’.La‘:tv.w( Pric —Drsessalid ig’.oz [Z,J Id odse A ét} < QJ?LLJ
= $resd -$29¢-30 : »
= {76370

5]

h (
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Ques.8.

In 1966, average weekly earnings were approximately $65-00
In 1996, average weekly earnings were approximately $650-00
a What is the ratio of increase? B
b Based on this, what wouid you expect the cost of the following .
to be in 19967 Their cost in 1966 is givan.
i newspaper (Sunday) $0.10¢
ii student rail ticket 30-15¢
1ii petrol 8-9¢ per Iit;e_»‘ ;

P Wﬁqc Lm‘ifg"}]'t the cost of the following have been'n 19667,
i a-Toafof bread (in 1996 the price was $1-90) .
if a postage stamp (in1996 the cost was 45¢) )

i a phone call (in 1996 the cost was'40c) o o
d Do you think some items are relatively cheaper in 1996 tfiaq,:\ . G

in 1966 or vice versa? : -, JJ
F575, g6 [Bemrbey Toorak [ drginsdd

‘Ques9. Change the following recurring decimals to fractions.

088 . . %

(@ 056 " (b) 0.1278

[\_,’:.:f: BeX = Q‘J”Z«S”é{ -
S e

Lo e80T e = /2

- i 0‘. - PR
Fooe =54 7994 0c = 27E
xo= ;:;’_ - oL = ‘77%;7’?
Q) - gz

. T
/4
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